Example Questions

3) Write the four missing digits to make this
addition correct.

1) A bag of 5 lemons cost £1.

A bag of 4 oranges cost £1.80. 6 8

How much more does one orange cost than one
lemon?

+ |3 9

2) Two decimal numbers add together to equal
1. One of the numbers is 0.007. What is the 9 O 1 9
other number?




Example Questions

3) Write the four missing digits to make this
addition correct.

1) A bag of 5 lemons cost £1.

A bag of 4 oranges cost £1.80.
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How much more does one orange cost than one
lemon?

25p more + 3 3 9 1

2) Two decimal numbers add together to equal
1. One of the numbers is 0.007. What is the 9 O 1 9
other number?

0.993 1 1



